<'Rhino

VC3PR/FL
KammBar

Instructions

CITY CRASH ()

According to ISO/ PAS 11154:2006

VC3PR/FL_b rhinoproducts.co.uk



KammBar Pro x 1
2.2kg/4.9lbs

Max
75kg/165Ibs

KammBar Fleet x 1
2.5kg/5.5lbs

Max
50kg/110Ibs

SA421 x 3 [ | KLS2x1 [ |

SA397 x3[ | SA398x3[ ]

Fitting Kit

\y
PS183x 6 [ | PS178 x4 [ | PS180 x 2[ | PS325 x 2 [ |

FS107 FS105 FS081 FS066
(M8 x 75) [ | (M8 x 55) | (M8 x 50) [ ] (M8 x 40) [ ]
x 2 x2 x4 x4
= Fs134 s ==
= Mmsxas) [] N <=
= x12
FTO1 x 1[_] PS023x6[ | FNOO6 (M8) x 12[ |

VC3PR/FL_b



FW002 (M8) x 12 PS208 (M8)x6 PS020 (M8)x6  MS209 (M8) x 12

[] [] ] (]
L3 (T-Track) = C

- ——

< g
< »

5986mm

C

6850mm

7391mm N 7391mm

C (T-Track)

= 3, 6-14, 26-29. _
A B = 4, 6-7, 15-21, 26-29. A C = 5-7, 22-29.

VC3PR/FL_b 3



SA397

SA398 [
PS325

PS325

SA397
PS183

SA397

PS183

SA397

PS180

SA397 SA398 I

PS178 PS178 «

®OOO®OOO®O\
®OOO®OOO®O}

SA397

PS178

SA397

PS183

SA397
PS183

! SA397

PS183

VC3PR/FL_b



&
\ “ s ¢
\ 2
0))
| i [ 2
Qw.. V)] e— —)- +
[y )
=5 / y |l 2
6 \ % o
0
é -
~ ¢ ™
- N o
® 8
ne & e g2 c
A \ﬁw; 2 5
QO o
:w%/w/w?z 0 @@@%@ o
= £
) m
\\ o
»
0
\ s
’ /
A

VC3PR/FL_b



FS066

PS208

£
£
o
<
X
)
=

M8 x 55mm

PS325 + M8 x 75mm

13mmx 2

PS023

=

/

VC3PR/FL_b



19.

PS180 + M8 x 55mm

13mm x 2

18.

PS178 + M8 x 40

VC3PR/FL_b



rhinoproducts.co.uk @ sales@rhinoproducts.co.uk

N
\\ UK +44 (0) 151 319 2931

25

~6 Nm

24.

28.

ey —
L_mmw\

////////’

MMM R
OIS

7™
) \%s 7

)
AN
S MW

\ Q\
A\
//

/
\

VC3PR/FL_b

Manufactured by Rhino Products Ltd in the United Kingdom.
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.





